WT

WT

pex19A

B Cc [*S]JAACy. [*S]Antls,

i f i
peroxisomes EGFP-Ant1 merge . ATP - + - +
Tom7 035617 PK - + - +
30 ~
kDa
£ 251 35— v —
= | B , :
3 2 20 25 } 1 =
5% 151 pom
g o .
ax 101 15—
mitochondria EGFP-Ant1 merge 5 1
0 - 10—
AAC  Ant1
D mitochondria E mitochondria
| —— | | —— |
50 - 30 1
c . 401 £ %]
© 0 = T
53 30 £§ 207
T °
© T ®© 15
T uw— O w—
c o 20 1 £ o
3 g8x 107
10 A E 5 |
0 - 0 -
AAC Ant1 AAC  Ant1

Figure S5. Targeting of Antlp. A, Upper panel: Images of wild type yeast cells expressing Antlp
labeled by an EGFP moiety (green) and the protein mCherry-SKL (red, containing the
peroxisomal targeting signal Ser-Lys-Leu). Blue outlines visualize the boundaries of the cells.
Second panel: Yeast wild type cells expressing EGFP-labeled Antlp (green) were incubated with
MitoTracker (orange). Lower panel: Expression of EGFP-Antlp in a yeast pex/94 deletion strain
and labeling of mitochondria with MitoTracker Orange; bar 2 um. B, Binding of [**S]-labeled
AAC and [**S]-labeled Antlp to isolated Tom70_,. The assay was carried out as in experiment of
Fig. 3B. SD, n = 6. C, Import of [**S]-labeled AAC (33.9 kDa) and Antlp (36.4 kDa) into isolated
yeast mitochondria. Reticulocyte lysates and mitochondria were incubated with apyrase (samples
1 and 3) or left untreated (samples 2 and 4) and then mixed and incubated at 25 °C. Samples 2 and
4 were incubated with proteinase K. The mitochondria were reisolated for subsequent analysis.
D, Quantification. The amounts of bound radiolabeled protein as shown in (C), lanes 1 and 3, were
determined in relation to the total amounts added to the samples, SD, n = 12. E, Mitochondrial
import of [*S]-labeled AAC and Antlp in two steps: Both proteins were incubated with
mitochondria in the absence of ATP (as in C). The mitochondria were then reisolated and
resuspended. One half was incubated at 25 °C in the presence of 2 mM ATP and subsequently
treated with proteinase K. The other half was used to determine the total amount of

mitochondria-associated radiolabeled protein. The ratio of both values was calculated, SD, n = 12.
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